

### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 3, 2025

\$93,889.9 \$0.0 \$93,889.9	Original Contract Amount Net Change Order Amount Current Contract Amount	October 16, 2025 November 1, 2025	Pay Period Start Pay Period End	i-H5B ler Paving, LLC		Contract ID Prime Cont	Progress Estimate Number 4					
By User							Approval Date					
turnep3	the Project Office Level by	considered Draft) at	roved (and should b	Generated and App	G		November 3, 2025					
stottt1	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by stottt											
ramses1	Controllers Office Level by	at the Central Office	iewed and Approved	Re			November 4, 2025					
omplete	of Current Contract Amount C	on Date %	Actual Complet	pletion Date	Current Com	on Date	Original Completion					
	91.23%			er 1, 2026	Novembe	026	November 1, 20					
	Milestones			nal Dates	entract Information	Cor						
	xist for Contract	No Milestones E	tion Date	Current Comple	Completion Date	Original C	Date Description					
							Acceptance Date					
				June 5, 2025	025	June 5, 20	Awarded Date					
				May 16, 2025	025	May 16, 20	Letting Date					
				July 7, 2025	25	July 7, 202	Notice to Proceed Date					
							Work Began Date					

Contract Total Pay For Estimate No. 4									
		This Estimate	Previous	To Date					
250516-H5B									
	Total Posted Items Pay	\$1,152.00	\$84,504.07	\$85,656.07					
	Gross Item Adjustments	\$0.00	\$387.82	\$387.82					
	Incentive	\$0.00	\$0.00	\$0.00					
	Disincentive	\$0.00	\$0.00	\$0.00					
	Liquidated Damage	\$0.00	\$0.00	\$0.00					
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00					
			\$84,891.89	\$86,043.89					
Contract Total Pa	avable This Estimate:	\$1.152.00							

Items Paid This Est	timate Period											
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount					
JSE0103	0050	6161005	CONSTRUCTION SIGNS	SQFT	\$6.000	192	\$1,152.00					
Project JSE0103 -	Project JSE0103 - Total											
Overall - Total		\$1,152.00										
Contract Adjustments This Estimate												

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

No Data Available

Revision 10/17/2025 Page 1 of 7



### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					С	ontract Project Informa	ation					
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
JSE0103		Resurface	YY	DUNKLIN	from Route 164 to end of state maintenance							
Totals b	y Job N	umbers										
JSE0103		ed Item Pay s Item Adjustm		s Item Pay	This Estimate \$1,152.00 \$0.00 <b>\$1,152.00</b>	Previous \$84,504.07 \$387.82 \$84,891.89	To Date \$85,656.07 \$387.82 <b>\$86,043.89</b>					
	Liquid	tive centive dated Damage · Contract Adju		3	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					

Revision 5/29/2025 Page 2 of 7





# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Revision 5/29/2025 Page 3 of 7



## Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
250516-	JSE0103	0001	0010	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	55.70	0.00	55.70	TONS	55.70	\$65.55	\$3,651.14
H5B		0001	0020	3105002	GRAVEL (A) OR CRUSHED STONE (B)	7.00	0.00	7.00	TONS	7.00	\$65.55	\$458.85
		0001	0030	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	490.90	0.00	490.90	TONS	490.81	\$103.74	\$50,916.63
		0001	0040	4071005	TACK COAT	729.00	0.00	729.00	GAL	436.00	\$3.42	\$1,491.12
		0001	0050	6161005	CONSTRUCTION SIGNS	810.00	0.00	810.00	SQFT	192.00	\$6.00	\$1,152.00
		0001	0060	6161025	CHANNELIZER (TRIM-LINE)	50.00	0.00	50.00	EA	0.00	\$20.00	\$0.00
		0001	0070	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.83	\$11,320.00	\$9,372.96
		0001	0080	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,615.00	0.00	1,615.00	LF	1,615.00	\$5.00	\$8,075.00
		0001	0090	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	3,837.00	0.00	3,837.00	SQYD	3,837.00	\$2.32	\$8,901.84
		0001	0100	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	950.00	0.00	950.00	SQYD	705.40	\$2.32	\$1,636.53
	Project J	SE0103 - To	tal Value	Posted to D	Date as of Report Generated Date							\$85,656.06
250516-H	5B Overal	I - Total Va	lue Poste	ed to Date as	of Report Generated Date							\$85,656.06

Revision 5/29/2025 Page 4 of 7



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JSE0103

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.		Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0050	6161005	CONSTRUCTION SIGNS	10/17/25	11/3/25	1	192.00	SQFT	Road Work Ahead x 4: 64 sqft One Lane Road Ahead x 4: 64 sqft Flagger Symbol x 4: 64 sqft Total: 192 sqft	0.001 Route YY	RLC	0.473 Route YY	RLC	

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 5 of 7





### Line Item Adjustments by Estimate

Contract ID: 250516-H5B

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSE0103	0030	BITUMINOUS PAVEMENT	Price FUEL		3	Oct 16, 2025	SYSTEM	\$387.82	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		MIXTURE PG64-22 (SUR		- Total				\$387.82	
			Price FUEL	- Total				\$387.82	
	0030 - Total								
	0800	4 IN. YELLOW WATERBORNE	Material		3	Oct 16, 2025	SYSTEM	(\$8,075.00)	
		PAVEMENT MARKING			3	Oct 16, SYSTEM 2025		\$8,075.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user turnep3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0080 -	Total					\$0.00		
JSE0103	- Total							\$387.82	
Overall -	Total						\$387.82		

## MoDOT

### Contract Adjustments for Contract - 250516-H5B

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 7 of 7